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Q.1 On 6 October 2024, Prakash Man Singh Raut was appointed as the new Chief Justice of
which of the following countries?

Ans X 1. Indonesia
X 2. Malaysia
#< 3.Sri Lanka

«” 4. Nepal

Question Type : MCQ
Question ID : 441009217424
Option 11D : 441009853655
Option 21D : 441009853654
Option 31D :1 441009853653
Option 4 1D : 441009853652
Status : Answered
Chosen Option : 2

Q.2 Who among the following personalities founded the Pushti sect of Vaishnavism in Medieval
India?

Ans| « 1.Vallabhacharya
X 2. Madhavacharya
< 3. Namadev
X 4. Basavanna

Question Type : MCQ
Question ID : 441009217288
Option 11D : 441009853138
Option 21D : 441009853136
Option 31D : 441009853135
Option 41D : 441009853137
Status : Answered
Chosen Option: 3
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Q.3 Which state government has signed Memorandum of Understanding (MoU) with the United
Arab Emirates for an investment of 3 lakh crore in the field of renewable energy in the state
for setting up solar, wind and hybrid projects of 60 GW capacity?

Ans X 1.Maharashtra
25 2. Punjab
" 3. Rajasthan
X 4. Gujarat

Question Type : MCQ
Question ID : 441009257692
Option 11D : 4410091004606
Option 21D : 4410091004607
Option 31D : 4410091004604
Option 4 1D : 4410091004605
Status : Answered
Chosen Option: 4

Q.4 How many gold medals did India secure in the Paris Paralympics in 2024?
Ans X 1. Eight

& 2.Six
& 3. Five
«# 4. Seven

Question Type : MCQ
Question ID : 441009257814
Option 11D : 4410091005095
Option 2 1D : 4410091005093
Option 31D : 4410091005092
Option 4 1D : 4410091005094
Status : Answered
Chosen Option: 4

Q.5 Who among the following members of the constituent assembly recommended that the
rights of the individuals should be divided into justiciable and non-justiciable rights?

Ans X 1.Dr BR Ambedkar
#< 2. Dr AK Ayyangar
& 3.BN Rau
25 4. Jawaharlal Nehru

Question Type : MCQ
Question ID : 441009204321
Option 11D : 441009803778
Option 2 ID : 441009803779
Option 31D : 441009803780
Option 41D : 441009803781
Status : Answered
Chosen Option: 1
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Q.6 Who appoints the Judge of the High Court in India?
Ans | X 1. Chief Minister

+ 2. President

X 3. Prime Minister

X 4 Home Minister

Question Type : MCQ
Question ID : 441009332608
Option 11D : 4410091296449
Option 2 ID : 4410091296448
Option 31D : 4410091296451
Option 41D : 4410091296450
Status : Marked For Review
Chosen Option: 1

Q.7 Which of the following states in India is NOT a granite producer?
Ans X 1. Karnataka

25 2. Tamil Nadu
«# 3. Uttar Pradesh
25 4. Rajasthan

Question Type : MCQ
Question ID : 441009217706
Option 11D : 441009854758
Option 2 ID : 441009854759
Option 31D : 441009854757
Option 4 1D : 441009854756
Status : Answered
Chosen Option: 1

Q.8 Indore has been declared India’s first beggar-free city in May 2025, under which government
initiative?

Ans' X 1. National Urban Livelihood Mission
" 2. Bhiksha Vriti Mukta Bharat
25 3. Deendayal Antyodaya Yojana
25 4. Swachh Bharat Mission

Question Type : MCQ
Question ID : 441009258054
Option 11D : 4410091006054
Option 2 ID : 4410091006053
Option 31D : 4410091006055
Option 41D : 4410091006052
Status : Marked For Review
Chosen Option : 2
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Q.9 The Census
Ans o 1.1971

X 2.2001
X 3.1991
X 4.1981

recorded the highest decadal growth rate of population in India.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
441009217794
441009855108
441009855110
441009855109
441009855111
Answered

1

Q.1 The Poona Sarvajanik Sabha was founded on
0

Ans X 1.2 April 1860
5 2.2 April 1880
2532 April 1890
& 4.2 April 1870

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
441009205071
441009806505
441009806507
441009806508
441009806506
Answered

2

Section : Logical Reasoning
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Q.1 Identify the figure given in the options which when put in place of the question mark (?) will
1 logically complete the series.

- o - 2

0

X O O
0

Ans

O

0

Question Type : MCQ
Question ID : 441009217104
Option 11D : 441009852455
Option 21D : 441009852458
Option 31D : 441009852456
Option 4 1D : 441009852457
Status : Answered
Chosen Option : 2
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Q.1 P Q,R, X, Y, and Z live on six different floors of the same building. The lowermost floor in the
2 building is numbered 1, the floor above it is numbered 2, and so on till the topmost floor is
numbered 6. Only three people live between Y and X, where Y lives below X. R lives on an odd
numbered floor and immediately above Y. Z lives on one of the floors below P and on one of
the floors above Q. Who lives on the floor numbered 5?

Ans o 1.P
K2y
X 3.R
X 4.

Question Type : MCQ
Question ID : 441009216415
Option 11D : 441009849699
Option 21D : 441009849702
Option 31D : 441009849700
Option 41D : 441009849701
Status : Answered
Chosen Option: 1

Q.1 If ‘P’ stands for ‘%', ‘Q’ stands for ‘+’, ‘R’ stands for ‘-’ and ‘S’ stands for ‘+’, then what will
3 come in place of the question mark (?) in the following equation?

(18S9)Q3R4P2S(28Q7)P5S518=2
Ans X 1.31

o 2.39

X 3.19

X 4.23

Question Type : MCQ
Question ID : 441009215865
Option 11D : 441009847501
Option 2 1D : 441009847502
Option 31D :1 441009847499
Option 4 1D : 441009847500
Status : Answered
Chosen Option : 2
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Q.1 Two sets of numbers are given below. In each set of numbers, certain mathematical
4 operation(s) on the first number result(s) in the second number. Similarly, certain
mathematical operation(s) on the second number result(s) in the third number and so on.
Which of the given options follows the same set of operations as in the given sets?

(Note: Operations should be performed on the whole numbers, without breaking down the
numbers into their constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)

14-7-10-20;6-3-6-12
Ans, X 1.16-8-11-32

X 2.4-2-4-16

X 3.2-1-4-16

o 4.10-5-8-16

Question Type : MCQ
Question ID : 441009215987
Option 11D : 441009847990
Option 21D : 441009847987
Option 31D : 441009847988
Option 41D : 441009847989
Status : Answered
Chosen Option : 4

Q.1 Select the set in which the numbers are related in the same way as are the numbers of the
5 following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into their constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)

(4,7,23)
(9, 5, 86)

Ans| X 1.(7,5, 44)
X 2.(3,6,25)
o 3.(5.8,33)
X 4.(8,212)

Question Type : MCQ
Question ID : 441009216034
Option 11D : 441009848175
Option 21D : 441009848177
Option 31D : 441009848178
Option 41D : 441009848176
Status : Answered
Chosen Option: 3
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Q.1 In a certain code language,
6 ‘A + B’ means ‘Ais the sister of B/,
‘A — B’ means ‘A is the brother of B’,
‘A x B’ means ‘A is the wife of B’ and
‘A + B’ means ‘A is the father of B'.

How is Srelatedto Hif ' S+D+F -G x H?
Ans X 1. Wife's mother's sister
25 2. Wife's mother's mother
«# 3. Wife's father's sister
X 4. Wife's father's mother

Question Type : MCQ
Question ID : 441009216600
Option 11D : 441009850441
Option 2 ID : 441009850442
Option 31D : 441009850439
Option 41D : 441009850440
Status : Answered
Chosen Option: 3

Q.1 Which of the following letter-clusters should replace # and % so that the pattern and
7 relationship followed between the letter-cluster pair on the left side of :: is the same as that
on the right side of ::?

#:ZBE:: KMP: %
Ans| o 1.#=UWZ %=PRU
& 2.#=UWZ % = PRO
& 3. #=UWZ % = PRL
& 4 #=VWZ % =PRU

Question Type : MCQ
Question ID : 441009216767
Option 11D : 441009851110
Option 2 1D : 441009851107
Option 31D : 441009851108
Option 41D : 441009851109
Status : Answered
Chosen Option: 1
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Q.1 What should come in place of the question mark (?) in the following series?
8 6,12,21,7,48

Ans 4 1.33
K 238
K 3.35
K431
Question Type : MCQ
Question ID : 441009216224
Option 11D : 441009848935
Option 21D : 441009848938
Option 31D : 441009848936
Option 41D : 441009848937
Status : Answered
Chosen Option: 1
Q.1 Based on the English alphabetical order, three of the following four letter-cluster pairs are
9 alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT belong to
that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in
the letter-cluster.)
Ans X 1.NX-QW
o 2. BL-FK
X 3.8C-VB
X 4. KUNT
Question Type : MCQ
Question ID : 441009216453
Option 11D : 441009849854
Option 21D :1 441009849852
Option 31D : 441009849853
Option 4 1D : 441009849851
Status : Answered
Chosen Option:' 3
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Q.2 This question is based on the following words.

0
ATE SET RAT VAN
In each of the words, each vowel is changed to the letter immediately preceding it in the
English alphabetical order and each consonant is changed to the letter immediately following
it in the English alphabetical order. In how many letter-clusters thus formed, will no vowel
appear?
Ans X 1.Two
5 2.0ne
25 3. Three
o 4. Zero
Question Type : MCQ
Question ID : 441009216391
Option 11D : 441009849605
Option 2 1D : 441009849604
Option 31D : 441009849606
Option 4 1D : 441009849603
Status : Answered
Chosen Option : 4
Section : General English and Comprehension
Q.2 Select the option that can be used as a one-word substitute for the underlined phrase in the
1 given sentence.
He developed a fear of books in early childhood, and no therapy could help him overcome it.
Ans| X 1.ecophobia
2 2. nomophobia
«# 3. bibliophobia
25 4. aerophobia
Question Type :' MCQ
Question ID : 441009330834
Option 11D : 4410091289849
Option 21D : 4410091289848
Option 31D : 4410091289846
Option 41D : 4410091289847
Status : Answered
Chosen Option: 3
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2 agrammatical error.
This is / the most quickest / route to / the airport.
Ans X 1.routeto
" 2. the most quickest
25 3.the airport
X 4. Thisis

Q.2 The following sentence has been split into four segments. Identify the segment that contains

Question Type :

Question ID
Option 11D

MCQ

: 441009204592
: 441009804839
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

441009804838
441009804840
441009804837
Answered

2

3
In limbo

Ans X 1.Inamanageable situation
%" 2. In an uncertain situation
2 3.Inan easy situation

5 4. In a funny situation

Q.2 Select the most appropriate meaning of the given idiom.

Question Type :

Question ID
Option 11D

MCQ

: 441009203958
: 441009802342
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

441009802341
441009802343
441009802340
Answered

3
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Q.2 The given sentence is divided into four segments. Select the option that has the segment
4 with the grammatical error.

She returned every item / that she found in the garage / though she may keep / them to
herself easily.

Ans X 1. that she found in the garage
25 2. them to herself easily.
25 3.She returned every item

" 4. though she may keep

Question Type : MCQ
Question ID : 441009204599
Option 11D : 441009804866
Option 2 ID : 441009804868
Option 31D : 441009804865
Option 41D : 441009804867
Status : Answered
Chosen Option: 3

Q.2 Select the most appropriate meaning of the given word.
5

Perpetual

Ans X 1.Happening only once
«# 2. Continuing for a long period of time
25 3. Changing frequently

25 4. Occurring occasionally

Question Type : MCQ
Question ID : 441009361418
Option 11D : 4410091411821
Option 21D : 4410091411820
Option 31D : 4410091411822
Option 4 1D : 4410091411819
Status : Answered
Chosen Option : 2
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6 sentence.

Ans X 1. all things must pass
25 2. absolute power corrupts absolutely
" 3. the darkest hour is just before the dawn

25 4. all's well that ends well

Q.2 Select the most appropriate proverb that can substitute the highlighted segment in the given

After a long period of unsuccessful attempts, he finally got the breakthrough he was waiting
for. Remember that success often requires overcoming many obstacles.

Question Type:
Question ID :
Option 11D :

441009219193

441009219192

: 441009219195

Status :

Chosen Option :

Option 2 ID
Option 3 ID
Option 4 ID

MCQ
44100955058
441009219194

Answered
1

7
Diminish
Ans X 1.To distribute
25 2. To celebrate
" 3. Toreduce

25 4.To create

Q.2 Select the most appropriate meaning of the given word.

Question Type :
Question ID :
Option 11D :
Option 21D :

4410091411991

/4410091411993

Status :

Chosen Option :

Option 3 ID
Option 4 ID

MCQ
441009361462
4410091411994
4410091411992

Answered
3
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Comprehension:

Read the given passage and answer the questions that follow.

In martial arts, one is trained to develop power in each and every finger. When these fingers
come together to form a punch, the tremendous nature of the impact created can hardly be
exaggerated. The example here, should not be looked upon as a glorification of violent instincts.
The body, the mind and the spirit come together to act in harmony and this calls for
coordination of different parts of the body and concentration of a very high level.

Similarly, in the human society, civilisation can evolve only if people with the right thought and
right action pool in their resources together to move towards the right direction. Right values are
necessary if togetherness or unity is to yield the right results. A mass movement becomes
disastrous if it loses the moral force.

It did not take much time for the French Revolution with the sacred ideas of ‘Liberty, Equality and
Fraternity’ to degenerate into the horrors of the ‘Reign of Terror’.

SubQuestion No : 28

Q.2 What does the example of martial arts NOT uphold?
8

Ans X 1.Restraining violent instincts
25 2. Applauding violent instincts
" 3. Exalting violent instincts

#5 4. Denouncing violent instincts

Question Type : MCQ
Question ID : 441009204832
Option 11D : 441009805648
Option 21D : 441009805647
Option 31D : 441009805645
Option 41D : 441009805646
Status : Answered

Chosen Option : 2
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Comprehension:

Read the given passage and answer the questions that follow.

In martial arts, one is trained to develop power in each and every finger. When these fingers
come together to form a punch, the tremendous nature of the impact created can hardly be
exaggerated. The example here, should not be looked upon as a glorification of violent instincts.
The body, the mind and the spirit come together to act in harmony and this calls for
coordination of different parts of the body and concentration of a very high level.

Similarly, in the human society, civilisation can evolve only if people with the right thought and
right action pool in their resources together to move towards the right direction. Right values are
necessary if togetherness or unity is to yield the right results. A mass movement becomes
disastrous if it loses the moral force.

It did not take much time for the French Revolution with the sacred ideas of ‘Liberty, Equality and
Fraternity’ to degenerate into the horrors of the ‘Reign of Terror’.

SubQuestion No : 29

Q.2 What ensures harmonious functioning of the body, mind and spirit?
9

Ans X 1.Coordination of body and mind
25 2. Coordination of body and coordination of mind
" 3. Coordination of body and concentration of mind

#< 4. Concentration of mind and coordination of mind

Question Type : MCQ
Question ID : 441009204833
Option 11D : 441009805652
Option 21D : 441009805650
Option 31D : 441009805651
Option 41D : 441009805649
Status : Answered

Chosen Option: 3
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Comprehension:

Read the given passage and answer the questions that follow.

In martial arts, one is trained to develop power in each and every finger. When these fingers
come together to form a punch, the tremendous nature of the impact created can hardly be
exaggerated. The example here, should not be looked upon as a glorification of violent instincts.
The body, the mind and the spirit come together to act in harmony and this calls for
coordination of different parts of the body and concentration of a very high level.

Similarly, in the human society, civilisation can evolve only if people with the right thought and
right action pool in their resources together to move towards the right direction. Right values are
necessary if togetherness or unity is to yield the right results. A mass movement becomes
disastrous if it loses the moral force.

It did not take much time for the French Revolution with the sacred ideas of ‘Liberty, Equality and
Fraternity’ to degenerate into the horrors of the ‘Reign of Terror’.

SubQuestion No : 30

Q.3 Select the most appropriate synonym of the given word.
Degenerate
Ans | # 1. Debase
25 2. Defile
25 3. Denigrate
25 4. Deprecate

Question Type : MCQ
Question ID : 441009204834
Option 11D : 441009805655
Option 21D : 441009805656
Option 31D : 441009805653
Option 41D : 441009805654
Status : Answered
Chosen Option: 1

Section : General Hindi

Q.3 fA=fafaa d @ FiF-a1 e ‘g @1 yafgar 82

1

Ans X 1.8
K 2.z
o 3. fay
X 4

Question Type : MCQ
Question ID : 441009331534
Option 11D :1 4410091292259
Option 21D : 4410091292258
Option 31D : 4410091292257
Option 4 1D : 4410091292256
Status : Answered
Chosen Option: 1
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Q.3 A & v SARifh w1 T o Ru g fRemeut 7 @ I
2 gt gt i @en, wan et WAk T e
Ans X 1. fR<T § B A

o 2. TRt o fomT AT Sene 78T &

X 3.3 @i 1 3rat 3Tt &

& 4. 3rgf gred § g AreT

Question Type : MCQ
Question ID : 441009331544
Option 11D : 4410091292294
Option 2 ID : 4410091292293
Option 31D : 4410091292295
Option 4 1D : 4410091292292
Status : Answered

Chosen Option : 2

Q.3 F=fafRe area «t Sug g forar @ g fifsig -

3 @gdzE_

Ans X 1.f=r
o 2.%aUs
X 3@
25 4. T

Question Type : MCQ
Question ID : 44100949409
Option 11D : 441009196917
Option 21D : 441009196919
Option 31D : 441009196916
Option 41D : 441009196918
Status : Answered
Chosen Option : 2

Q.3 waifaa forar faivor eree @ g g arerr a1 Rk wi gof -
4 geagadern....... g & =fgul

Ans X 1 g®Eq
< 2. Sreren
X 3. ffa

4. 3@

Question Type : MCQ
Question ID : 44100942411
Option 11D : 441009169148
Option 2 ID : 441009169147
Option 31D : 441009169149
Option 41D : 441009169150
Status : Answered
Chosen Option : 4
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Q.3 = & @ 'errerer a1 faeiy aree 2
5

Ans X 1. fau<s
K 2.9
X 3 9
o 4. IS
Question Type : MCQ
Question ID : 44100940143
Option 11D : 441009160107
Option 2 1D : 441009160105
Option 31D : 441009160108
Option 41D : 441009160106
Status : Answered
Chosen Option : 4
Q.3 g g feredt & & e 1 wétes faehy eree 93T -
6
Ans | o 1. 3R
252,
X 3.9k
X 4 o
Question Type : MCQ
Question ID : 44100946574
Option 11D : 441009185450
Option 21D : 441009185448
Option 31D : 441009185449
Option 4 1D : 441009185447
Status : Answered
Chosen Option: 1
Q.3 @ g aray & fora wm A Ffe @2
7 guR Tt & dea d asferal aga 8l
Ans X 1.gAR TG
X 2. ¥ naforaf
X 3.9gda¢
o 4. hada
Question Type : MCQ
Question ID : 441009208247
Option 11D : 441009818599
Option 2 ID : 441009818601
Option 31D : 441009818602
Option 41D : 441009818600
Status : Answered
Chosen Option : 3
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Comprehension:

R TS

SubQuestion No : 38

Ans X 1.3uta & g
X 2. Tsgfh & forg
X 3. grTfores Hfaat 3 quia & forg
o 4 IS forg

AR merier & snur w = Ry usii & IR AT

TRAG-GT A B SMYfAeh i ahr sfiToier gl Rdwg = gl ahre-3amT & forg S7uT gap Husd oft
AT, ST RIS AV’ h A1 9 UG &1 39 7T H pfaar-awaell 9+ fawg ugur fohg 7g1 asgwfh,
MW, TATOTER GRa<T & Tf &ftsT, TrTioies gpeifaa ol 9ofe Ud @ed, Siffes giea o ufd &ftet, wReg
o ot faRer & A, WRA-gRm, aTat-faarg, stufayre vd wfet e @eA, Fde i stigiemt & ufa
TETOTd, T ot & AR fAféra-anf i ahg sirefter, e shearial G gfeed s fawat e gamer
e 7T | e &R STeT SuRleh fawal et uguT fea 1T, A Z@t SR ITRERTeE RURT & Fafe & der oft
HI TS| R, @ Y I SHAT! [GaRERT 61 STUATE TS| 39 Il H Sh1ed chl HTST SISTHTYT &1 35T a7 ITH
STTEhiTeY Tt TTET=T f&aT 7T | SHSTRIRYT 8 Thorsl, QAR, TTa, Shexal, STiegl ST1fe aentid eht Fe=l Wighd

Q.3 ¥RdAg 7 ‘"URAG-AvSH’ i w91 T F?
8

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009208315
441009818832
441009818831
441009818833
441009818834
Answered

4
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Comprehension:

AR merier & snur w = Ry usii & IR AT

TRAG-GT A Bt SMYfAeh i ot sfiToier gaim| s Rdwg = fgwil ahreg-3amn & forg S7ueT e Husd off
AT, ST IRAG-AVSH o A1 9 UG &1 39 T H pfaar-awaell 9+ fawg ugur forg 7g1 asawfh,
MW, AT GRE<T & Tf &fteT, ArTioies peifaa ol 9o Ud @ed, Siffes giea o ufd &ftet, wReg
o ot faRert & T, WRA-gdRm, aTat-faarg, stufayre vd wfet e @eA, Fd i stigiet & ufa
TETOTd, T ot & AR fAféra-anf i ahg sirefter, e shearial G gfeed s fawat e gamer
e 7T | Qe SR STeT SuRleh fawal et uguT fea T, A Z@t SR ITReRTeH URURT & Fafe & der oft
HI TS| R, @ Y I SHAT! [GaRERT 61 STUATE TS| 39 Il H Sh1ed chl HTST SISTHTYT &1 35T a7 ITH
STTEghiTer Tt TTET= f&aT 7T | SHSTRIRUT 8 Shorl, SRR, TTa, Shexal, STiegl ST1fe atentid &ht He=l Wighd
FHI TS|

SubQuestion No : 39
Q.3 U el & STIHR Fa1sQ ok 59 o1 i spfdar i wza o @ 42
9

Ans o 1.5
&2, st
X 3. g
X 4 @@ Tt

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
441009208317
441009818842
441009818839
441009818840
441009818841
Answered

1
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Comprehension:

AR merier & snur w A Ry usi & IWR A9

TRAG-GT A B SMYfAeh i ahr sfiToier gl Rdwg = gl ahre-3amT & forg S7uT gap Husd oft
AT, ST RA-G-AVSH o A1 9 UG &1 39 7T H epfaar-aweel 9di+ fawg agor fohg 7g1 Tsafh,
MW, TATOTER GRa<T & Tf &ftsT, TrTioies gpeifaa ol 9ofe Ud @ed, Siffes giea o ufd &ftet, wReg
o ot faRert & A, WRA-gdRm, aTat-faarg, stufayre vd wfeat e @eA, Fde i stigiet & ufa
TETOTd, T ot & AR fAférd-ant i ahg sirefter, gfer smearial G gfeed s fawat e gamer
e 7T | Qe SR STeT SuRleh fawal et uguT fea 1T, A Z@t SR ITRERTeH RURT & Fafe & der oft
HI TS| R, U@ Y I SHAT! [aRYRT 61 STUATS TS| 39 Il H Sh1ed chl HTST SISTHTYT &1 35T a7 ITH
STTEhiTeY Tt TTET=T f&aT 7T | SHSTRIRYT 8 Thorsl, QAR, TTa, Shexal, STiegl ST1fe aentid eht Fe=l Wighd
FH TS|

SubQuestion No : 40
Q.4 WA= g & Fidar a1 g 78 ar-
0

Ans| o 1. R &9 BT YR ST
X 2. R o= o1 fager & e
X 3. siufyrT vd wfed & e
X 4. grfore gafaat et aui

Question Type : MCQ
Question ID : 441009208316
Option 11D : 441009818838
Option 2 1D : 441009818837
Option 31D : 441009818835
Option 41D : 441009818836
Status : Answered
Chosen Option: 1

Section : Basic Knowledge of Computer

Q.4 In alarge MS Excel spreadsheet with many columns, you need to delete every other column
1 starting from Column B. Which method would be the most efficient?

Ans X 1.Manually deleting each column one by one

#5 2. Using the 'Sort & Filter' function to sort the columns and then deleting the unwanted
ones

5 3. Using the 'Filter' function to hide the columns and then deleting them

«# 4. Using a macro to automate the process

Question Type : MCQ
Question ID : 441009213240
Option 11D : 441009837037
Option 21D : 441009837040
Option 31D : 441009837039
Option 4 1D : 441009837038
Status : Answered
Chosen Option: 4
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Q.4 How does an email system handle duplicate emails that are sent to the same recipient
2 multiple times?

Ans X 1. It stores only the first instance in the inbox and deletes the rest.
«” 2. It stores all duplicates in the inbox.
#< 3. It stores only the last instance in the inbox and deletes the rest.

25 4. It stores all duplicates in the spam folder.

Question Type : MCQ
Question ID : 441009213478
Option 11D : 441009837990
Option 21D : 441009837989
Option 31D : 441009837991
Option 41D : 441009837992
Status : Answered
Chosen Option: 1
Q.4 Which of the following is a fundamental aspect of ensuring computer security?
3
Ans| «# 1.Installing and updating antivirus software
X 2. Adjusting mouse sensitivity settings
& 3. Regularly defragmenting the hard drive
25 4. Increasing the screen resolution
Question Type : MCQ
Question ID : 441009213882
Option 11D : 441009839598
Option 21D : 441009839600
Option 31D : 441009839597
Option 41D :1441009839599
Status : Answered
Chosen Option: 1
Q.4 In MS Word, how can a user ignore all instances of a misspelt word in the document during a
4 Spelling & Grammar check?
Ans X 1. Select 'Ignore Once'.
#5 2. Select 'Add to Dictionary'.
" 3. Select 'Ignore All"
25 4. Select 'Change All'
Question Type : MCQ
Question ID : 441009213931
Option 11D : 441009839794
Option 21D : 441009839793
Option 31D : 441009839795
Option 41D : 441009839796
Status : Answered
Chosen Option: 3
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Q.4 What is the primary use of the Task Manager in Windows?
5

Ans X 1.Backing up important files
25 2. Installing new software
25 3. Configuring firewall settings

«” 4. Monitoring system performance and managing running processes

Question Type : MCQ
Question ID : 441009213745
Option 11D : 441009839051
Option 2 ID : 441009839049
Option 31D : 441009839052
Option 41D : 441009839050
Status : Answered
Chosen Option : 4
Q.4 If you want to print only a specific part of a worksheet, which MS Excel feature should you
6 use?
Ans| X 1.Page Breaks
X 2. Margins
¥ 3. Set Print Area
25 4. Print Titles
Question Type : MCQ
Question ID : 441009213440
Option 11D : 441009837839
Option 21D : 441009837840
Option 31D : 441009837838
Option 4 1D : 441009837837
Status : Answered
Chosen Option : 3
Q.4 Which of the following is the primary function of an SMTP server?
7
Ans X 1.Creating email addresses
#< 2. Filtering spam
" 3. Delivering outgoing emails
25 4. Storing incoming emails
Question Type : MCQ
Question ID : 441009213483
Option 11D : 441009838012
Option 2 ID : 441009838011
Option 31D : 441009838010
Option 4 1D : 441009838009
Status : Answered
Chosen Option: 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.4 In email systems, the term 'mail daemon' refers to .

Ans X 1. aservice that schedules emails for future sending
#< 2. a program used to filter spam emails
¥ 3. a background process that delivers and manages email messages

25 4. an error message sent when an email fails to deliver

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009213595
441009838451
441009838452
441009838449
441009838450
Answered

1

9
Ans' X 1. Resize Cells
X 2. Adjust Cells

« 3. Format Cells
X 4. Modify Cells

Q.4 Which of the following commands allows you to change the height and width of cells in Microsoft Excel?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009332115
4410091294510
4410091294512
4410091294511
4410091294513
Answered

1

Q.5 Which protocol is used for secure email transmission?
0

Ans X 1.FTP
X 2.POP3
& 3.S/MIME
X 4.SMTP

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009214317
441009841308
441009841306
441009841309
441009841307
Answered

1
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Q.5 Which of the following options correctly defines the impact of polymorphic virus on a
1 computer system?

Ans| # 1.t changes its form every time it replicates.
25 2. It deletes the log files.
25 3.1t only infects specific types of image files.

25 4. 1tis hidden within legitimate software.

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :

1 441009837144

Status :

Chosen Option :

Option 4 ID

MCQ

441009213266
441009837141
441009837143
441009837142

Answered
1

Q.5 In MS Word, what is the primary difference between ‘Save’ and ‘Save As'?
2

Ans X 1.'Save prints the document, while ‘Save As’ exports it.
«# 2.'Save updates the existing file, while ‘Save As’ saves a copy with a new name.
5 3.'Save’ creates a new document, while ‘Save As’ saves the current document.

25 4.'Save’ deletes the document, while ‘Save As' formats it.

Question Type :
Question ID :
Option 11D :
: 441009839550
Option 31D :
Option 41D :
Status :

Chosen Option :

Option 2 ID

McQ
441009213870
441009839552

441009839549
441009839551
Answered

3

Q.5 Which of the following is a page orientation type of an entire MS Word document?
3

Ans X 1. Vertical
«” 2. Landscape
25 3. Portable
25 4. Horizontal

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009214438
441009841792
441009841790
441009841791
441009841793
Answered

2
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Q.5 Which of the following actions allows a user to select all the text in an MS Word 2019
4 document?

Ans| o 1. PressCtrl+A

25 2. Press Ctrl +Z
25 3. Double-click the first word
25 4. Press Ctrl + C

Question Type : MCQ
Question ID : 441009213919
Option 11D : 441009839745
Option 21D : 441009839748
Option 31D : 441009839746
Option 4 1D : 441009839747
Status : Answered
Chosen Option: 1

Q.5 Which of the following is a key method to secure a PC and prevent unauthorised access in the
5 context of cyber security?

Ans| X 1.Ignoring system alerts and security warnings
«# 2. Regularly updating operating systems and software
25 3. Using public Wi-Fi for sensitive transactions

25 4. Disabling antivirus software

Question Type : MCQ
Question ID : 441009213753
Option 11D : 441009839084
Option 2 1D : 441009839082
Option 31D : 441009839083
Option 4 1D : 441009839081
Status : Answered
Chosen Option: 2

Q.5 Select the key combination that is used to create a bulleted list in an MS Word document.
6

Ans| # 1. Ctrl + Shift+L
X 2. Alt+B
X 3.Ctrl+Alt+L
KX 4.ctrl+B

Question Type : MCQ
Question ID : 441009213299
Option 11D : 441009837273
Option 21D : 441009837275
Option 31D : 441009837276
Option 41D : 441009837274
Status : Answered
Chosen Option: 1
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Q.5 What is the purpose of device encryption on smartphones?
7

Ans X 1.Toremove viruses from the phone

" 2. To protect sensitive data by converting it into unreadable code, which can only be
accessed with a decryption key

/X 3. To enable access to more storage space

25 4.To speed up the device

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009213522
441009838166
441009838168
441009838167
441009838165
Answered

2

Q.5 Which tool is typically used to perform a brute force attack against SSH or FTP servers?
8

Ans o 1. Hydra
25 2. Nmap
25 3.Snort

X 4.SQLMap

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
441009213333
441009837409
441009837411
441009837412
441009837410
Answered

4

Q.5 Which of the following is true when opening an MS-PowerPoint 2010 presentation?
9

Ans X 1.0Opening a presentation closes any other open presentations.
" 2. One can open presentations directly from cloud storage, like OneDrive.
25 3. It always opens in Slide Show mode.

25 4. MS-PowerPoint does not support presentations from earlier versions.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCcQ
441009214482
441009841969
441009841967
441009841966
441009841968
Answered

1
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Q.6 What is the purpose of the ‘AutoFill' feature in MS Excel?
0

Ans X 1. To validate cell data
«” 2. To copy cell content or continue a pattern
25 3. To split text into multiple cells

25 4. To automatically sum a range of values

Question Type : MCQ
Question ID : 441009213444
Option 11D : 441009837855
Option 21D : 441009837854
Option 31D : 441009837856
Option 41D : 441009837853
Status : Answered
Chosen Option : 2
Section : Commerce
Q.6 The internal audit function at XYZ Ltd. performed detailed testing of transactions and
1 balances to ensure accuracy. What does this activity primarily intend to accomplish?
Ans| " 1. Provide assurance to management about the effectiveness of internal controls
25 2. Identify and punish employees involved in fraudulent activities
< 3. Help the company achieve statutory compliance
X 4. Ensure that management follows company policies
Question Type : MCQ
Question ID : 441009223246
Option 11D : 441009874423
Option 2 ID : 441009874422
Option 31D : 441009874420
Option 4 1D : 441009874421
Status : Answered
Chosen Option: 2
Q.6 What is the main characteristic of the Quasi Single Entry System?
2
Ans X 1. It uses the double-entry system exclusively.
25 2. It only maintains personal accounts.
25 3. It does not track cash transactions.
" 4. Itincludes personal accounts, cash book and some subsidiary books.
Question Type : MCQ
Question ID : 441009223152
Option 11D : 441009874045
Option 2 1D : 441009874044
Option 31D : 441009874046
Option 4 1D : 441009874047
Status : Answered
Chosen Option : 2
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Q.6 Consider the following statements and select the correct option.
3

(i) A statement of affairs, like a balance sheet, is a statement which shows the assets and
liabilities of a concern on a particular date and reveals its financial state of affairs.
(i) In a single-entry system, it is possible to prepare trial balance.

Ans X 1.Statement (i) is false and Statement (ii) is false.
¥ 2. Statement (i) is true and Statement (ii) is false.
#5 3. Statement (i) is true and Statement (ii) is true.

25 4. Statement (i) is false and Statement (ii) is true.

Question Type : MCQ
Question ID : 441009223427
Option 11D : 441009875145
Option 2 ID : 441009875144
Option 31D : 441009875146
Option 41D : 441009875147
Status : Answered
Chosen Option : 2

Q.6 Which of the following Sections of the Companies Act, 2013, states the circumstances in
4 which a company may be wound up by a tribunal?

Ans X 1.270
X 2.245
< 3.267
o 4.271

Question Type : MCQ
Question ID : 441009223610
Option 11D : 441009875876
Option 2 ID : 441009875879
Option 31D : 441009875878
Option 4 1D : 441009875877
Status : Answered
Chosen Option: ' 1

Q.6 The maximum amount of capital a company can raise by issuing shares is called:
5

Ans X 1.Paid-up Capital
25 2. Subscribed Capital
" 3. Authorised Capital
25 4. Reserve Capital

Question Type : MCQ
Question ID : 441009355057
Option 11D : 4410091386304
Option 21D : 4410091386305
Option 31D : 4410091386306
Option 4 1D : 4410091386307
Status : Answered

Chosen Option : 2
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Q.6 Mr. Philip submits the given information as the treasurer of Goa Flying Club for the year 2024-
6 25.
Subscriptions received during FY 2024: %15,000
Subscriptions outstanding for FY 2023-24: 32,000
Subscriptions received in advance on 31 March 2024: ¥1,000
Subscriptions received in advance on 31 March 2025: ¥3,000
Subscriptions outstanding on 31 March 2024: ¥5,000

What is the amount of subscription to be credited to the Income and Expenditure Account for
FY 2024-25?

Ans X 1.318,000
2 2.315,000
7 3.317,000
& 4.316,000

Question Type : MCQ
Question ID : 441009223186
Option 11D : 441009874183
Option 21D : 441009874180
Option 31D : 441009874182
Option 41D : 441009874181
Status : Answered
Chosen Option: 1

Q.6 If a registered person opts for the composition scheme from the beginning of a financial year,
7 what is the deadline to furnish statements/returns for the period prior to opting for the
scheme?

Ans| X 1.By the due date of furnishing the return for the month of March of the succeeding
financial year

" 2. By the due date of furnishing the return for the month of September of the succeeding
financial year, or by furnishing the annual return of the preceding financial year, whichever is
earlier

#< 3. By the end of the financial year in which the composition scheme is opted

5 4. Within 15 days from the end of the financial year

Question Type : MCQ
Question ID :1 441009223547
Option 11D : 441009875624
Option 21D : 441009875625
Option 31D : 441009875627
Option 41D : 441009875626
Status : Answered
Chosen Option: 3
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Q.6 Which of the following items is recorded on the debit side of profit and loss account?
8

Ans X 1. Interest received
«” 2. Depreciation on office car

25 3. Closing stock of WIP

& 4. Sales
Question Type : MCQ
Question ID : 441009223488
Option 11D : 441009875388
Option 2 ID : 441009875390
Option 31D : 441009875391
Option 41D : 441009875389
Status : Answered
Chosen Option: 1
Q.6 From incomplete records, it is possible to prepare which of the following?
9
Ans X 1.Balance Sheet
2 2. Trial Balance
«# 3. Statement of Affairs
25 4. Profit and Loss Statement
Question Type : MCQ
Question ID : 441009223378
Option 11D : 441009874949
Option 21D : 441009874948
Option 31D : 441009874950
Option 4 1D : 441009874951
Status : Answered
Chosen Option: 2
Q.7 As per SA 315 - Identifying and Assessing the Risks of Material Misstatement, which of the
0 following is NOT considered a component of an entity’s internal control system?
Ans X 1.The entity's information system and communication processes
#< 2. The overall control environment established by management
" 3. Substantive testing procedures performed by the auditor
25 4. The entity's risk assessment process
Question Type : MCQ
Question ID : 441009331845
Option 11D : 4410091293433
Option 2 ID : 4410091293431
Option 31D : 4410091293432
Option 41D : 4410091293430
Status : Answered
Chosen Option: 3
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Q.7 As per , the power to levy GST has been given to the Parliament as well as to the
1 Legislature of every state.

Ans X 1. Article 250A
25 2. Article 245

o 3. Article 246A
25 4. Article 248A

Question Type : MCQ
Question ID : 441009223334
Option 11D : 441009874775
Option 2 ID : 441009874773
Option 31D : 441009874772
Option 41D : 441009874774
Status : Answered
Chosen Option: 1

Q.7 Read the following statements carefully and select the most appropriate option.
2
Statement 1: The primary objective of the statement of cash flows is to provide information
about an entity’s cash receipts and cash payments during a period.
Statement 2: The net effect of cash flow is provided under different heads, namely cash flow
from operating, investing and financing activities.

Ans X 1.Statement 1 is true, and statement 2 is false.
25 2. Statement 1 is false, and statement 2 is true.
" 3. Both statements 1 and 2 are true.

25 4. Both statements 1 and 2 are false.

Question Type : MCQ
Question ID : 441009223290
Option 11D : 441009874597
Option 2 ID : 441009874598
Option 31D : 441009874596
Option 4 1D : 441009874599
Status : Answered
Chosen Option : 3
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Q.7 Which of the following points are considered as objectives of internal control?
3

(1) To minimise, if not completely eliminate, wastages and inefficiencies in business
operations and to safeguard the assets of the business
(2) To ensure high degree of accuracy and reliability of accounting data and promote
operational efficiency
(3) To measure how far the policies of the management are being implemented
(4) To evaluate the efficiency of performance in all aspects of business activities and to
highlight the weaknesses

Ans X 1.0nly (1) and (2)
& 2.(1),(2), (3)and (4)
£53.0nly (1), (2) and (3)
#5 4.0nly (1) and (3)

Question Type : MCQ
Question ID : 441009223265
Option 11D : 441009874496
Option 21D : 441009874497
Option 31D : 441009874498
Option 4 1D : 441009874499
Status : Answered
Chosen Option : 2

Q.7 The part of the issued share capital that investors agree to purchase is referred to as:
4

Ans| o 1.Subscribed Capital
5 2. Paid-up Capital
< 3. Authorised Capital
X 4. Reserve Capital

Question Type : MCQ
Question ID :1 441009355068
Option 11D : 4410091386363
Option 2 ID : 4410091386360
Option 31D 4410091386362
Option 41D :1 4410091386361
Status : Answered
Chosen Option : 2
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5

Ans

Q.7 Which category of taxpayer is exempt from filing the GSTR-9 annual return under GST?

" 1. Casual taxable persons
#5 2. Regular taxpayers with turnover above 32 crore
#< 3. E-commerce operators

25 4. Regular taxpayers with turnover above 35 crore

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009371761
4410091452883
4410091452880
4410091452882
4410091452881
Answered

2

Ans

Q.7 Expenses due but NOT yet paid are known as:
6

25 1. simple expenses
X 2. pre-paid expenses
" 3. outstanding expenses

25 4. expenses paid in advance

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009223464
441009875295
441009875293
441009875292
441009875294
Answered

3

7

Ans

Q.7 In striving to maximise shareholders’ wealth, a financial controller should:

" 1. seek courses of action that maximise returns while avoiding unnecessary risks
#< 2. avoid making any investment decisions
25 3. only monitor funds coming into the firm, not those going out

25 4. focus solely on increasing profits without considering risk

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009223527
441009875545
441009875547
441009875546
441009875544
Answered

1
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Q.7 Select the option that is correct regarding the following two statements labelled Assertion (A)
8 and Reason (R).

Assertion (A): In CVP analysis, the contribution margin per unit is crucial for decision-making.
Reason (R): Contribution margin is calculated by subtracting total fixed cost from total
revenue.

Ans X 1.Both AandR aretrue, and R is the correct explanation of A.
25 2. Ais false, but Ris true.
25 3.Both A and R are true, but R is not the correct explanation of A.
«" 4. Alis true, but R is false.

Question Type : MCQ
Question ID : 441009371416
Option 11D : 4410091451568
Option 21D : 4410091451571
Option 31D : 4410091451569
Option 41D : 4410091451570
Status : Answered
Chosen Option: 1
Q.7 When Bank Reconciliation Statement is started with favourable balance of cash book, which
9 of the following items will be added?
Ans| «# 1. Cheques issued, but not presented in bank
25 2. Undercasting of credit side of the Pass Book
25 3. Amount withdrawn from bank not recorded in the Cash Book
25 4. Undercasting of payment side of Cash Book
Question Type : MCQ
Question ID : 441009223473
Option 11D : 441009875331
Option 2 ID : 441009875329
Option 31D : 441009875330
Option 4 1D : 441009875328
Status : Answered
Chosen Option: 1
Q.8 Which of the following is NOT an advantage of the self-balancing ledger system?
0
Ans| # 1.Itis very expensive to implement.
25 2. The figures of total debtors or creditors is readily available.
25 3. Itis instrumental in strengthening the internal check.
25 4. It enables preparation of interim accounts without personal ledgers having to be
balanced.
Question Type : MCQ
Question ID : 441009223570
Option 11D : 441009875716
Option 21D : 441009875719
Option 31D : 441009875718
Option 4 1D : 441009875717
Status : Answered
Chosen Option: 1
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Q.8 As per the Goods and Services Act, 2017, all services and supply of goods will be taxable,
1 EXCEPT:

Ans| # 1. liquor containing alcohol which is for human consumption
#5 2. tobacco and other pan masala for human consumption

25 3. car

25 4. health care services

Question Type : MCQ
Question ID : 441009223358
Option 11D : 441009874868
Option 2 ID : 441009874870
Option 31D : 441009874871
Option 41D : 441009874869
Status : Answered
Chosen Option: 1
Q.8 Read the statements carefully and select the most appropriate option.
2 Statement 1: A chartered accountant, who has a private CA firm, will audit all expenditure
from the Contingency Fund of India and the Public Account of India as well as the
Contingency Fund and Public Account of each state.
Statement 2: Comptroller Auditor General of India (CAG) submits his audit reports relating to
the accounts of the Centre to the prime minister, who shall, in turn, place them before both
the houses of the Parliament.
Ans| X 1. Statement 1 is false, and statement 2 is true.
25 2. Statement 1 is true, and statement 2 is false.
«# 3. Both statements 1 and 2 are false.
/5 4. Both statements 1 and 2 are true.
Question Type : MCQ
Question ID :1 441009223278
Option 11D : 441009874550
Option 2 ID :: 441009874548
Option 31D : 441009874551
Option 41D : 441009874549
Status : Answered
Chosen Option: 1
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3
(i) Understandability
(ii) Relevance
(iii) Comparability

Ans| X 1.0nly (i) and (iii)
25 2. 0nly (i) and (iii)
£53.0nly (i) and (ii)
o 4 AlL(), (i) and (iii)

Q.8 Which of the following are the principal qualitative characteristics of financial statements?

Question Type:
Question ID :
Option 11D :

1 441009874833

: 441009874832

: 441009874835

Status :

Chosen Option :

Option 2 ID
Option 3 ID
Option 4 ID

MCQ
441009223349
441009874834

Answered
1

4

Ans X 1. current assets
X 2. fixed assets
«# 3. fictitious assets

< 4. intangible assets

Q.8 Assets appearing in the books having no real value are known as:

Question Type :
1441009223463
1 441009875291
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question ID
Option 11D

MCQ

441009875290
441009875288
441009875289
Answered

4
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per the cash book (Cr.).

(1) Cheques issued but not presented up to 31.12.2023 - ¥5,500
(2) Cheques deposited but not credited up to 31.12.2023 - 9,000
(3) Bank commission ¥30 was entered only in the passbook

entered in the cash book as ¥8,500
Ans X 1.33470

Q.8 The bank passbook of Mr. Sunil showed an overdraft of 6,000 on 31.12.2023. Prepare the
5 Bank Reconciliation Statement based on the following details and calculate the overdraft as

(4) A cheque for ¥6,500 issued in the settlement of a debt was encashed on 28.12.2023 but

& 2.34,070
o 3.34,470
& 4.34,400
Question Type : MCQ
Question ID : 441009223411
Option 11D : 441009875082
Option 2 1D : 441009875081
Option 31D : 441009875080
Option 4 ID : 441009875083
Status : Answered
Chosen Option: 3
Q.8 Which of the following would be classified as a current liability?
6
Ans| X 1.Bonds payable
25 2. Aten-year term loan from bank for the purchase of machinery
< 3. Pension benefit obligation
«" 4. Bills payable
Question Type : MCQ
Question ID :1 441009223545
Option 11D : 441009875619
Option 2 ID : 441009875616
Option 31D : 441009875617
Option 4 1D :1 441009875618
Status : Answered
Chosen Option : 4
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Q.8 Which of the following statements most accurately distinguishes between tax planning and
7 tax avoidance under Indian tax law?

Ans| & 1. Tax planning involves legitimate, lawful strategies, while tax avoidance exploits legal
loopholes without violating the law directly

25 2. Tax planning leads to penalties and prosecution, whereas tax avoidance does not
25 3. Both tax planning and tax avoidance are considered illegal and punishable

/5 4. Tax avoidance is a government-approved method of reducing tax liability

Question Type : MCQ
Question ID : 441009332256
Option 11D : 4410091295075
Option 21D : 4410091295077
Option 31D : 4410091295076
Option 41D : 4410091295074
Status : Answered
Chosen Option: 1

Q.8 When a transaction has not been recorded as per the rules of debit and credit, the errors so
8 arising are called:

Ans X 1.errors of commission
25 2. errors of omission
2% 3. clerical errors

«# 4. errors of principle

Question Type : MCQ
Question ID : 441009223194
Option 11D : 441009874213
Option 21D : 441009874214
Option 31D : 441009874215
Option 4 1D : 441009874212
Status : Answered
Chosen Option: 4

Q.8 Which of the following are regarded as Short Term or Current Liabilities?
9 (i) Sundry creditors
(i) Advances from customers
(i) Outstanding expenses

Ans 25 1.0nly (i) and (i)
25 2. 0nly (i) and (iii)
25 3.0nly (i) and (iii)
& 4. Al (i), (ii) and (i)

Question Type : MCQ
Question ID : 441009223489
Option 11D : 441009875392
Option 2 1D : 441009875394
Option 31D : 441009875393
Option 41D : 441009875395
Status : Answered
Chosen Option: 1
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Q.9 One of the primary objectives of financial management is to:

Ans X 1. ensure government compliance

#5 2. maximise profits in the short term
«” 3. maximise the wealth of shareholders

25 4. minimise employee turnover

Chosen Option :

Question Type : MCQ
Question ID : 441009369574
Option 11D : 4410091444287
Option 21D : 4410091444285
Option 31D : 4410091444288
Option 41D : 4410091444286
Status : Answered
Chosen Option : 2
Q.9 Which of the following is NOT a valid assumption underlying the compound interest-based
1 time value of money models?
Ans| X 1.Time intervals between compounding periods are of equal length
«# 2. All future cash flows in the model are assumed to be positive
#5 3. The frequency of compounding has a direct impact on the future value of money
25 4. Interest earned in each period is reinvested at the same rate of return
Question Type : MCQ
Question ID : 441009331920
Option 11D : 4410091293727
Option 2 1D : 4410091293728
Option 31D :1 4410091293729
Option 4 1D :14410091293726
Status : Answered
Chosen Option: 4
Q.9 Which of the following is a primary objective of implementing GST in place of VAT?
2
Ans| # 1. To simplify the tax structure
# 2. Toincrease the tax rate
25 3. To reduce the scope of taxation
25 4. To eliminate indirect taxes entirely
Question Type : MCQ
Question ID : 441009223144
Option 11D : 441009874013
Option 21D : 441009874012
Option 31D : 441009874015
Option 41D : 441009874014
Status : Marked For Review

4
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Q.9 Which of the following items is recorded on the credit side of profit and loss account?
3

Ans X 1. Audit fees
#5 2. Commission paid
< 3. Carriage outward

«” 4. Discount received from creditors

Question Type : MCQ
Question ID : 441009223487
Option 11D : 441009875386
Option 2 ID : 441009875384
Option 31D : 441009875387
Option 4 1D : 441009875385
Status : Answered
Chosen Option: 3
Q.9 During 2024, subscription received in cash is ¥42,000. It includes ¥1,600 for 2023 and ¥600
4 for 2025. Also, ¥3,000 is yet to be received for 2024. Calculate the amount to be credited to
the income and expenditure account with respect to subscription.
Ans| o 1.342,800
& 2.324,800
5 3.323,800
4,332,800
Question Type : MCQ
Question ID : 441009223615
Option 11D : 441009875896
Option 2 ID : 441009875897
Option 31D : 441009875899
Option 4 ID : 441009875898
Status : Answered
Chosen Option: 1
Q.9 Identify whether the given statements are true or false.
5 Statement 1) Statement of affairs is a statement of assets and liability.
Statement 2) Profit = Capital at the end - Drawings - Additional capital introduced - Capital
in the beginning
Ans X 1.Both Statements 1 and 2 are false
25 2. Statement 1 is false and Statement 2 is true
" 3. Statement 1 is true and Statement 2 is false
#< 4. Both Statements 1 and 2 are true
Question Type : MCQ
Question ID : 441009223190
Option 11D : 441009874199
Option 2 1D : 441009874198
Option 31D : 441009874196
Option 4 ID : 441009874197
Status : Answered
Chosen Option : 4
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Q.9 Which of the following statements about Issued Capital is correct?
6

Ans X 1. ltis equal to the subscribed capital.
" 2. It can never exceed the authorised capital.
#5 3. Itis the amount already paid by shareholders.
25 4.1t must always be fully called-up.

Question Type : MCQ
Question ID : 441009355160
Option 11D : 4410091386731
Option 2 1D : 4410091386730
Option 31D : 4410091386732
Option 41D : 4410091386733
Status : Answered
Chosen Option: 1

Q.9 A company compares its 2022 revenue with its 2021 revenue to determine the percentage
7 increase. What type of financial analysis is the company performing?

Ans X 1. Vertical analysis
< 2. Cash flow analysis
# 3. Horizontal analysis

25 4. Ratio analysis

Question Type : MCQ
Question ID : 441009223240
Option 11D : 441009874396
Option 2 ID : 441009874397
Option 31D : 441009874399
Option 41D : 441009874398
Status : Answered
Chosen Option: 2
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Q.9 Read the given statements carefully and select the correct option.
8

The balance, as per the adjusted cash book, is ¥274. The cheques which are not yet

to T477. Based on this, what will the balance, as per the passbook, be?

presented amount to ¥730. The cheques deposited but not yet recorded by the bank amount

(a) %528
(b) 3527
(c) %500
(d) Zero
Ans| «# 1.0nly (b)
25 2.0nly (c)
253.0nly (a)
25 4. 0nly (d)
Question Type : MCQ
Question ID : 441009223410
Option 11D : 441009875077
Option 21D : 441009875078
Option 31D : 441009875076
Option 4 1D : 441009875079
Status : Answered
Chosen Option: 2
Q.9 In a business that offers multiple products, the break-even point is most accurately
9 determined by considering which of the following?
Ans X 1.The product with the highest selling price
" 2. Weighted average contribution per unit based on the sales mix
5 3. Average variable cost of all products
5 4. Total annual sales turnover across all product lines
Question Type : MCQ
Question ID : 441009332018
Option 11D : 4410091294123
Option 2 1D : 4410091294124
Option 31D : 4410091294122
Option 4 1D : 4410091294125
Status : Answered
Chosen Option : 2
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00 Salaries and wages: ¥30,000
Wages: ¥30,000
Wages and salaries: 20,000
Commission paid: 1,000
Insurance paid: ¥2,000
Life insurance premium paid: ¥3,890
Gross profit: ¥6,90,000

Ans X 1.36,07,000
X 2.333,000
& 3.36,57,000
X 4.36,75,000

Q.1 Calculate Net profit or Net loss from the following particulars.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
441009223218
441009874311
441009874308
441009874309
441009874310
Not Answered
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